Prof. N. Haidar FACULTY OF ARTS & SCIENCES , A. U.B.

Sec. 1 &2 ¥lath 202 6 Jan_,1999
(1-st Semester, 1998-1999) )
Time : 1 hour QuIZz 1O , ' (closed book)
® 1. Solvethe BVP
Y 4y =xX+1 5 y0)=5, y(1)=0.
O II. Solve the IVP
xzy”+:{yl-y=4:{ ; y(k)=y’(1)=0‘.
@ III. Find the general power series solution of the following DE about

the ordinary point x =0 .
(x*-)y" +axy+2y = 0.

@ [V. Apply the method of Frobenius to find one of the solutions to the DE

x-Dy" +y =0,
in the neighborhood of its x = | singularity .
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